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Immediately after opening the seals
check to ensure that there is no
defect in the Question Booklet and
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inform the Room Invigilator. If
necessary, the Question Booklet
will be replaced.

The candidate has to answer
150 questions in all. Each question
carries 1 mark.

Answer the questions in the OMR
answer sheet only. :
Read the instructions given in OMR
answer sheet carefully before
answering.

There are four alternative choices
against each question. Select the
correct "and most appropriate
choice and mark it with
blue/black ballpoint pen in the .
right bubble of the OMR answer
sheet in such a way that ink does
not spread out of the bubble.
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Child Development and Pedagogy
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1.

Which one of the following is an
example of a fine motor skill ?

(A) Climbing
(B) Hopping
(C) Running
(D) Writing

" A teacher never gives answers to

questions herself. She encourages her
students to suggest answers, have
group discussions and adopt
collaborative learning. This approach
is based on the principle of —

(A) readiness to learn

(B) active participation

(C) proper organization of
instructional material

(D) setting a good example and

being a role-model

A child has mental age 12 years and
chronological age of 10 years. His IQ
will be —

(A) 120

(B) 100

(C) 22

(D) 83

Inclusive education signifies —

(A) same teaching methodology for
all children

(B) same  schools for normal
students and differently abled
students

(C) separa_te schools for normal
students and differently abled
students

(D) same facility for normal students

and differently abled students

[ P.T.O.
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A teacher can develop social values
among students by —

(A) developing a sense of discipline
(B) behaving ideally

(C) telling them about great people
(D) telling them good stories

Children will be able to learn in such
an environment where —

(A) they will get proper space for
their experiences and feelings

(B) they get an opportunity to play

(C) they get an opportunity to make

friends
(D) there is strict discipline

A student learns punctuality from his
teacher; this is an example of —

(A) Verbal learning

(B) ObServational lea_fning
(C) Skill learning

(D) Transfer of learning

Diagnosis of the gaps in the learning
of students should be followed by —

(A) Intensive drill and practice
(B)
(C)
(D)

Appropriate remedial measures
Systematic revision of all lessons

Reporting the findings to
learners and parents

A teacher shows irritation over trivial
mistakes committed by child. It
indicates that —

(A) he is a well wisher of child
(B) he has lack of knowledge

(©)
(D)

he is frustrated

he is not emotionally poised
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10. Which among the following is true

11.

12

13.

14.

statement regarding NCF-2005 ?

(A) This is a constitutional
amendment regarding school
education in India

(B) This is a document prepared by
NCERT, which is presenting
suggestions regarding school
education in India

(C) This is the document signed by
UNESCO and India regarding
_qualitative education in India

(D) None of these

A school gives preference to girls

while preparing students for a state

level solo-song competition. This
reflects —

(A) Progressive thinking

(B) Global trends

(C) Pragmatic approach

(D) Gender bias

Which of the folloWing is a principle of

development ?

(A) Itis a discontinuous process

~ (B) All processes of development are

not inter-connected

(C) It does not proceed at the same
pace for all

(D) Development is always linear

If the students are not taking interest

in the lesson, the teacher should —

(A) change the method of teaching

(B) wuse audio-video aids to make the
lesson interesting

(C) . leave the class

(D) begin a new work/task in the
classroom

The 'doing' aspect of behaviour falls in

the —

(A) Conative domain of learning

(B) Affective domain of learning

(C) Psychological domain of learning

(D) Cognitive domain of learning

[P.T.O
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Understanding the principles of
development of a child helps a
teacher in —

(A) effectively catering to the
different learning styles of
learners

(B) identifying the social status of
learners

(C) identifying the economic
background of the learners

(D) rationalizing why the learners
ought to be taught

Difference in learning styles among

learners may be attributed to —

(A) socialisation process of learner

(B) thinking strategies adopted by
learner

(C) economic condition of the family

(D) parenting of the child

What should be the sequence of

developing language skills at Class I

level ?

(A) Listening, Speaking, Reading,
. Writing
(B) Writing, Reading, Listening,
Speaking
(C) Listening, Writing, Speaking,
Reading
(D) Writing, Speaking, Reading,
Listening ‘
Human personality is a result of —
(A) only heredity
(B) upbringing and education
(C) interaction between heredity and
environment
(D) only environment

Children of class-one and two —

(A) learn fast through abstract
eXperiences :

(B) learn fast through concrete
experiences

(C) learn fast by reading

(D) learn fast by writing :

Learners display individual

differences. So a teacher should —

(A) insist on uniform pace of
learning

(B) enforce strict discipline

(C) increase number of tests

(D) provide a variety of learning

experiences
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In the context of education;
socialization means —
(A) adapting and adjusting to social

environment

(B) always following social norms
(C) creating one's own social norms
(D) respecting elders in society

Which of the following should be
considered the most important
quality of a teacher at primary level ?

(A) Competence in methods of
teaching and knowledge of
subjects

(B) Competence to teach in highly
standardized language

(C) Eagerness to teach

(D) Patience and perseverance

Which would be the best theme to
start within a nursery class ?

(A) My best friend
(B)
(©)
(D)

The stage of cognitive development,
according to Piaget, in which child
displays "object permanence” is —

(A)

My neighbourhood
My family
"My school

Sensori motor stage

(B) Pre-operational stage
(C) Concrete operational stage
(D) Formal operational stage

Role of a teacher in the process of
learning is that of —

(A) Facilitator
(B) Instructor
(C) Trainer

(D) Controller

[P.T.O.
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Errors of learners often indicate —
(A) how they learn

(B) socio-economic status of the
learners

(C) the need for mechanical drill
(D) absence of learning

A child cannot distinguish between

'saw’ and ‘'was’, ‘'nuclear’ and
'unclear'. He/she is suffering from —

(A) word jumbling disorder .

(B) dyslexemia

(C) dyslexia

(D) dysmorphemia

There will be a progress- in the

learning process of children when
we —

(A) assess their progress regularly

(B) take corrective measures during
the process of continuous
assessment of children

(C) give home work to children
regularly

(D) conduct activities for children
regularly

According to Kohlberg, a teacher can

instil moral values in children by —

(A) involving them in discussions on
moral issues

(B) giving strict instructions on 'how

to behave'

(C) giving importance to religious

teachings
(D) laying clear rules of behaviour

At the primary level the activities like
music, story-telling, drama, art, craft,
games etc. should be organised —

(A) once a week

(B) integrated with every subject
(C) organised separately

(D) organised' during extra time
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First Language — ENGLISH

Directions ( 31-36.) : Answer the following questions by selecting the most appropriate
option :

Choose the correct synonym of the word ‘Chaos’ —

(A) disorder (B) blank

(C) gap (D) difference

I will call on the principal tomorrow.’ ‘Call on’ means — :

(A) leave » (B)) help

(G) suggest (D) wvisit

Choose the plural of the word ‘Goose’ —

(A) geese (B) gooses

(C) goose (D) none of these

Tllegible’ means —

Aa) - a persén who cannot read or write
(B) fulfilling the conditions required
(C) which cannot Be read prope‘r}y '
(D) which is not permissible by the law

Choose the correct synonym of the word Despise’ —

(A) affection (B) hate

(C) jealous ' -~ 4UB) s love

The verb of the word ‘success’ is —

(A)  successful (B) succeed
(C) successfully (D) succession

Choose the most suitable alternative in accordance with the correct use of tense.
(A) Before she comes the train will depart '

(B) Before she comes the train will have departed

(C) Before she comes the train will be departing ¢

(D) Before she comes the train will be departed

Choose the correct active voice of the italicized sentence from the options given
below — '

Let your country be served.

(A)  Serve your country

(B) Do service your country

(C) Service should be done to your country

(D) Let serve your country

[ P.T.O.
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Choose the correct indirect speech of the italicized sentence from the options given
below —

“What are you doing old man ?” said the king.

(A) The king told the old man that what he was doing

(B) The king asked the old man what he was doing

(C) The king asked what the old man is doing

(D) . The king told the old man what he was doing

Fill in the blank with appropriate conjunction —

Believean yourmother oo oo do your duty.
(A) though (B) unless
(C) and (D) because

You are required to choose the correct meaning of the idiom italicized in the
sentence — J

The speaker gave a bird’s eye view of the political condition of the country.

(A) adetailed presentation , (B) a biased view

(C) a general view (D) - a personal view

Choose the option with the correct use of comparative degree of the adjective for the
italicized sentence —

Akbar was the greatest Mughal emperor.

(A) No other Mughal emperor was as great as Akbar

(B) Akbar was a great Mughal emperor

(C) Akbar was greater than any other Mughal emperor

(D) Akbar was one of the greater Mughal emperors of India

Directions ( 43-46 ) : Four alternatives A, B, C and D are given under each sentence.
You are required to select the most suitable alternatives to fill in the blanks in the
sentence to make it meaningful.

Hesis o ol {6 Jioin o any kind of work with due sincerity.

(A) fond; perform (B) reluctant; entrust

(C) determined ; undertake (D) eager; void

I amrnoEy s et oo about your success because your ................. approach to study
is disappointing.

(A) dispaired ;!irresolute (B) hopeful ; regular

(C) optimistic ; perfunctory (D) rude ; reckless

The AWk .t immediately after the ceasefire proposal was ....................
bilaterally.

(A) receded ; exchanged (B) started ; prepared

(C) extended ; mitigated (D) ended ; accepted

The manager is usually :............c..c.. , but today he appears rather .............. SSRE

(A) calm ; disturbed - (B) strict ; unwell

(C) tense ; restless . - (D) happy; humorous

001
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Directions ( 47-51 ) : Read the following passage and answer the questions that follow-
Democracy is a form of government in which people are governed by their own elected
representatives. It is a government of the people, for the people. In this system of
government, it is the people who are supreme and sovereign. They are free to elect a
government of their own choice. Freedom of choice is the core of democracy.

Democracy existed in ancient Greek and Roman republics but with little success. It
had very little scope in ancient India. Democracy entered its golden stage in the
twentieth century. Many countries in the world today follow the democratic form of
government. Democracy depends on the following conditions — (i) co-existence of ideas
and of parties; (ii) the right to free discussions (iii) periodic elections.

India is the largest democracy in the world. The Constitution of India was enforced on
26th January, 1950. India became a democratic republic infused with the spirit of
Jjustice, liberty, equality and fraternity. The Indian political system is a multi-party
system. Political parties are the vehicles of ideas. Parties act as the bridge between
social thought and political decision’ in democracy. However, gradually politics has
become a game of opportunism and corruption. Most political parties are only
interested in coming to power. Some try to influence the people through caste politics.
Some try to raise the religious sentiments of the people. '

We enjoy every right in theory, but not in practice. Real democracy will come into being
only when the masses are awakened and take part in the economic and political life of
the country. There is inequality in every sphere — social, economic and political.
Illiteracy is the main cause of inequality. The illiterate masses get easily lured by
money during such an event. Also some of our legislators have criminal records against
them. The people who make the laws themselves break them. For the democracy to be
fully successful, the electorate should be literate and politically conscious. They should
be fully aware of their rights and privileges.

What is the core of democracy ?

(A)  Freedom of choice

(B) Supremacy of people

(C) Government by elected representatives

(D) Government of the people

What is wrong with the politics today ?

(A)  We have multi-party system

(B)  Political parties are the vehicles of ideas

(C) It has become a game of opportimism and corruption

(D) Al of these -

“The people who make the laws themselves break them.” Who are ‘the people’ here ?

(A) Masses (B) Illiterate masses

(C) Literate masses. ' (D). Legislators

L ARTO:
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50.

S1.

S2.
53.
54.

55.
56.

S

58.

59.

60.

For what do the political parties try to influence the people through caste politics ?

(A) To raise the religious sentiments of the people

(B) To come to power :

(C) To act as the bridge between social thought and political decision

(D) To make them vehicles of their ideas

The style of the passage is —

(A) narrative . (B) expository

(C) sentimental (D) judgmental

Directions ( 52-55 ) : Each of the following sentences are dividéd into four parts
marked as A, B, C and D. One of the parts has an error in it. Identify it and mark the
part on the answer sheet :

It has been raining from morning .

e e R D
I do not have some book to read |
Remyl =pe C by
He is much old to learn things
A leen ) crae D
He lives in Rishikesh in Uttarakhand
ST € / D :

An effective language teacher —

(A) will make children learn all the answers to the questions given in the text-book
(B) will use the text-book as well as other materials as resources for teaching
(C) will prepare question papers using only the questions given in the text-book
(D) will rely entirely on the prescribed text-book

The English curriculum is concerned with —

(A) learning of language (B) learning through language
(C) both (A) and (B) (D) neither (A) nor (B)

At primary level the objective of teaching a language is —

(A) Basic Interactive Communicative Skills ( BICS )

(B) Cognitive Advanced Language Proficiency ( CALP )

(C) memorisation of text-book V

(D) ability to write question answers

Grammar should be taught by —

(A) giving clear explanations

(B) enabling practice in context

(C) asking students to learn rules

(D) making learners do written assignments

The curriculum for English attempts to develop the use of English for —

(A)  social interaction (B) academic achievement

(C) cultural enrichment . : (D) all of these
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Which one of the following words can be made plural by adding a suffix — ‘en’?

(A)
(©)

Second Language — ENGLISH

Fox

Ox

21

(B)
(D)

Box

Tax

Choose the correct word to complete the given sentence —

(©)

Must

Choose the correct spelling —

(A)
(&)

contineous

continou

S

(B)
(D)

(B)
(D)

I speak to the principal for one day leave ?

May
Should

continuous

continus

Choose the correct part of speech of the italicized words —

Namita wore a dark green saree on her wedding.

(A)
(€)

Noun

Adjective

(B)
(D)

Fill in the correct word in the given sentence —

(A)
©

“The higher you go,

as

the

Choose adverb in the following sentence —

He frequently comes unprepared.

(A)

(©)

Choose the correct spelling / word to fill in the blank in the given sentence —

He

comes

Every student

(A) eccept (B)
(C) axcept (D)
Which of the following words can be made plural by changing f” into ‘ves’?
(A) - chief (B)
(C) gulf (D)

harder you fall.’

(B)
(D)

(B)
(D)

Pronoun

Adverb

SO

none of these

frequently

unprepared

Sachin was present in the class.

except

acsept

roof

thief
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69. Choose the correctly punctuated sentence —
(A) Rama the son of Dasharatha, was very brave.
(B) Rama, the son of Dasharatha, was very brave.
(C) Rama, the son of Dasharatha was very brave.
(D) Rama the son of Dasharatha was very brave.
70. Choose the appropriate meaning of the idiom ‘Burning question’ —
(A) adying issue i (B) arelevant problem
(C) an irrelevant issue (D) a widely debated issue
Directions ( 71-75 ) : Read the following passage and answer the questions that
follow :
Most of us pay little attention to courtesies. How often do we say ‘please’ when we want
something or ‘thank you’ when we get it ? ‘Please’ and ‘Thank you’ are the necessities
of ordinary conversation which we prefer to ignore. Courtesies are not just a matter of
good breeding but also good manners. They are more than just saying the right thing at
the right time. We are supposed to know what we are doing. We should also ensure
that our inefficiency and ignorance does not hurt even unintentionally. For example, if
we want to invite someone we do not know, we may invite him formally through written
invitation or through telephone personally. But getting it done by an assistant is an act
of discourtesy. :
71. Attention to the courtesies of ordinary life is shown by —
(A) Dbeing very loua
(B) hurting someone
(C)  using words like ‘Please’ and ‘Thank You’
(D) Dbeing ignorant )
72. Use of ‘please’ and ‘thank you’indicates —
(A) discourteous behaviour (B) good upbringing and good manners
(C) ignorant nature (D) innocent nature.
73. Saying the right thing at the right time ensures that —
(A) we are inefficient (B) we are courteous
(C) we are hurting someone (D) we are ignorant
74. An act of inviting someone becomes discourtecus if —
(A) we are polite (B) we telephone personally

(C) we send written invitation (D) we get it done by an assistant



7S

76.

7

78.

%9

80.

81.

23
The adjective form of ‘ignorance’ is
(A) ignore ' (B) ignoring
(C) ignorant (D) ignored.

Choose the correct form of verb to fill in the blank in the given sentence :

This mango ...... s T sweet.
(A) tasty " (B)® taste
(C) tasting (D) tastes.

‘Irrevocable’ means —

(A)  which can be altered

(B) reversible .
(C) irreversible

(D) irrecoverable

Choose the correct synonym of the word ‘Ridiculous’ —

(A) love (B) affection
0 D o
Choose correct pronoun to fill in the blank in the sentence —
‘I am wiser than ........ s 2

(AL him (B) himself

(€) ““he (D) his

To combine the given two sentences, choose the most appropriate word —
I was annoyed. I kept quite.

(A) or (B) and

(€)1 se (D) still

Choose correct word order —

(A) She speaks always the truth

(B) She always spe_aks the truth

(C) She speaks the truth always

(D) Always she speaks the truth

APPU-1

[ P.T.O.
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82.

83.

84.

85.

86.

87.

88.

- 89.

90..

Directions ( 82-84 ) : Fill in the blank by choosing correct preposition :

The horse jumped ................. the well.

(A) on (B) in

(C) into (D) ulnder
Thespatient died 5x oo cholera.

(A)  of (B) by

(C)  with ' (D) for
Shetbought acpens 5 o . ten rupees.

(A) by ; (B) with
(C) from (D) for

Directions ( 85-86 ) : Select the opposites of the italicized words in the given

sentences :

This window-pane is transparent.

(A) solid ; (B) opaque

(C) translucent (D) fragile

His attitude is very hostile. |

(A) kind ' (B) friendly

(C) humane (D) helpful

Directions ( 87-90 ) : In questions there may be an error in any of the portions of the

sentence. If there is no error, choose no error option. Find out the error.

Thre nurse _made the baby sleep. no error

B € D
The flowers smell sweetly. no error
A B & D
John Keats was _one of the greatest poet. no error
A B- B s D
I saw an one eyed .. ROEHOY
B € D

001
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Mathematics

TH F@ & 1000 FenfEE # ¥ 60% 7B
¢ 578 @ 20% @R 1 3k FF 25%
ol weR @ o e Ht e wiaed
Higed QER & ?

A) 30% B) 37-5%

(C) 35% (D) 32:5%
T TR SR HT fRaAr  WRT
ST & 2

(A) (B)

ullw N+
Old WIN

(©) (D)
e § RIH-T1 e o § 2
@A) 20~ %@ﬁa = 1 faefidix
(B) 1072 %wﬂ'a = 1 WIHX
1072 TohefieR = 1 SHHRX
(D) 1073 ¥FIHIR = 1 SR

Th IE] HT HI god, aK | 3w g
H 64% T TIT W 12% Bl B 31 W
yfcrere o e —

(A) (B)
(©€) (D)

(©)

52%
42-5%

24%
37:5%

9L

92.

93.

94.

(©)

APPU-1

[

Of the 1000 inhabitants of a town,
60% are males of whom 20% are
literate. If in all the inhabitants, 25%
are literate, then what percent of
females of the town are literate ?

(A) 30% (B) 37-5%
(C) 35% (D) 32:5%

How much part of the given square
shaped figure is shaded ?

(A) (B)

(D).

gl N
OlH W

Which of the following relations is
wrong ?

(A) 1072 decimetre = 1 millimetre
(B) 1072 decametre = 1 centimetre
© 1072 kilometre = 1 decametre

(D) 10 >hectometre = 1 decimetre

The cost price of an article is 64% of
the marked price. The gain percent
after allowing -a discount of 12% on
purchase will be —

(A) 52%
(C) 42-5%

24%
37:5%

(B)
(D)

[ P.T.O.
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95.

96.

97.

98.

99.

fFg YR & Hoaid o1 g IAIE
forenféal st ‘wiesw’ 3T § 2

(A) TEAICHS Todih
(B) FRMITS TodieT 5
(C) TRIRIcHS Hodih
(D) Hio=THS Jedis
51-84 0-005184
W w12 ﬁ’_ e
qH & —
(A) 0-0012 (B) 0-12
(C) 0-00012 (D) 0:012

% Toots H %hae 50 U9 adl 1 T
% fgos & @ S YR & fas it
& 99F 1 50 09 & TH foers faes
qgr 1 399 & UH AiUs Ges e <A
W oot B 26 TUF RN FOd ¢ | IRY
o TooTeh | THeRhT bt TEAT € —

(A) 36 (B) 60
) 54 (D) 48
5T amepia & x 1 7 & —
3B
\gx
(A) 55° (B) 60°
(C) 65° (D) 70°

gic 9 FHTTT YATHS QU @, b, ¢ 39
YR 8 b a < b < ¢, @ 7= F sA-41

foeroT @&l & 2
(A a+b b+c c+a
a+b+c a+b+c a+b+c
(B) c+a b+c a+b
a+b+c a+b+c a+b+c
©) b+c c+a a+b
a+b+c a+b+c a+b+c
(D) b+c a+b c+a
a+b+c” a+b+c a+b+c

34

95.

96.

O:

98.

95

(©)

(C)

Which type of evaluation has main

purpose to give 'feedback' to the
students ?

(A) Formative evaluation

(B) Diagnostic evaluation

(C) Summative evaluation

(D) Prognostic evaluation

if 21:8% _ 15 then the value of
4-32 2

0-005184 .

0-432

(A) 0-0012 (B) 0-12

0-00012 (D) 0-012

The cash-box of Ruby contains same
number of coins of S0 paise and
1 rupee only. On drawing the one-
third coins of 50 paise and one-fourth
coins of 1 rupee, the balance of cash-
box is Rs. 26. The number of coins
initially in cash-box is —

(A) 36 (B) 60

54 (D) 48

In the following figure, the value of
xis —

r

v

R
(A) 55° (B) 60°

(E): 652 (D) 70°

If three successive positive integers
a, b, c are such that a < b < ¢, then
which of the following options will be
correct ?

(A) a+b b+c c+a
a+b+c a+b+c a+b+c
(B) c+a b+c a+b
a+b+c a+b+c a+b+c
©) b+c c+a a+b
a+b+c a+b+c a+b+c
(D) b+c a+b c+a
a+b+c a+b+c a+b+c
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14
100. 23 5 w7 geefeor ¥ —
i i op
S Dl =70
(A) 1 B) S
© 25 D =
101.
1 " 1 % 1 o 1
V2+V3 V3+v4 Ja+5 J5+46
FTAH & — :

(B) V3(1++v2) B V(31
(€): J3 (V2 -1} (D) J2(¥3-1)
102. 1 &5l ST 9Tt 24 O41 1 WER SAreas
T 39 TH S9ET G & | A 39 vy
% IMYR T URET 12 6 &1 & 5= )

S B —
(A) 194 (B) 2 |H
(C) 39H (D) 4 9=

103. e HR 37ci i ot SH, Tl q°r 5 I
ol 39 ¥ 10 99 iU ¥ &H, 9 |
foret o sl & 2

(A) 10°W

(B) 2099

(C) T &l forar s ghar

(D) 379 & & Tl

104. 3 n TH HBOUMHS &1 8 af 9 o Q

HI FIE T & ?

(A) O ‘ B) -n

(C) 2n (D) n2

105.Uh fress 1 fomg ‘SoW dwr W %

(D) Fremdt v &I SEE WA F R

APPU-1
100. The simplification of —
T ol |
Sy
T
S D 8D
(A) 1 B) S
© 25 o) =
101. The value of .
1 - 1 i 1 . 1
2+43 J3+J4 Ja+5 J5+V6
will be —

A) V3(1+42) B) J2(¥3+1)
(©) V3(V2-1) (D) J2(¥3-1)

102. A solid cuboid is formed by mutual
joining of 24 cubes of 1 cm side.
If perimeter of the base of this cuboid
is 12 cm, then height of cuboid will

be —
A) lcm (B) 2 cm
(€)' 3cm (D) 4 cm

103. The total age of Ravi and Ali is
- 10 years more than the total age of Ali
and John. John is how many years
younger than Ravi ?

(A) 10 years

(B) 20 years

(C) Cannot be measured

(D) None of these

104. If n is a negative number, then which
of the following is least ?

(A) O (B) -n

© 2n D) n2

105. A teacher has to teach the subject

'Volume and surface area of a

cylinder and a cone'. The skill based

objective of teaching will be —

(A) the pupil will be able to
distinguish between features of a
cylinder and a cone

(B) the pupil will be able to draw the
figure of a cylinder and a cone

(C) the pupil will be able to recall
the formulae for calculating
volume and surface area of
cylinder and cone

(D) the pupil will be able to find the
height of a cone when a given
cylinder is melted into cone

[ P.T.O.
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106.

107.

108.

109.

110.

6 B a9l Ui® ot Ufed i URE 9 HiZ
%lxﬁwﬁﬁmmm%m,ﬁm
gfgd 9§ 10 THT 3fush o7l &1 x
AT —

(A) 360 HIZ (B) 144 %2

(C) 540 ®IE (D) 180 ®E

3:40 PM W HE ' €2 F TS a9 e
I g3 & S HT HIOT BT —

(A) 150° (B)  140°

(€ 130° (D) 135°

AW § | T AT S 8 —
A) 3:
B) S
(€) 2=
[ DAY ) R |

AT (4)? T 2% = 51-2, A1 GeaGh Toed
(?) & =H U AT —

A) 4 B) 5

(€] 8 (D). 10

e % taE % uia fwemt @t
HagAeleAd! Sd <A % foid  FHer
3§ —

(A) fowg gl =i Femd & smye &
& ¥ Heifea T

i UgrEl ST &, 399 gty w98
T ! S BT

renfeat i EuRoe % ST
q e AT, e 3 e i

1
=2
il

= NN

(B)

(€

36

[2]

'106. The perimeters of front wheel and

il & Heifua srp= bl st

AR & S

(D) T § Tt

107.

108

109.

110.

(A)

back wheel of a two-wheeler are 6 feet
and 9 feet respectively. The front
wheel takes 10 revolutions more than
back wheel in travelling a distance x.
The value of xis — . :

(A) 360 feet (B) 144 feet
(C) 540 feet (D) 180 feet

The angle between the hour hand and

the minute hand of a clock at
3:40 PM will be —

(A) 150°
(C) 130°

(B)
(D)

140°
135°

. A cylinder, a hemisphere and a cone

stand on equal bases and have same
heights. The ratio of their volumes
will be —

P25l
B) 3:2:2
(C) - 25k T
A AR S

If ?% of (4)? = 512, then it will come
in place of interrogative sign (?) —

(&) -4 (B) 5

(C) 8 (D) 10

The effective measure for cultivating
learner's sensitivity towards learning
of mathematics is —

(A) to relate the subject matter to

the learner's field of experience

(B) to enquire about the previously
acquired knowledge in relation

to what is being taught

(C) to make learners acquainted
with application of concepts,
more preferably, in daily life

situations

(D) all of these
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Bl g7 HERY AN S L F 2 a9 H
500 To ™1 4 T H 900 Fo & ST T
% 99 B —

(A) 100 %o (B) 200 %o
. (C) 300 %o (D) 400 %o

0:1x0:-1x0-1+0-02x0-02x0- 02
0-2x0-2x0-2+0-04x0-04x0-04

FAAE —

A) 1 (B) 0025

(©) 025 (D) 0-125

Th TAH % 9F T FoRRl % 8a%eT

113

114.

115.

116.

A

FHI: x, y 3R z €| TN BT HEAH

2T —

xyz -
(Bl =y
(C) Jxyz

(D) 3yxyz

100 @91 300 & &g Tl 9@ 7 ¥
fasra & 2

(A) 42 (B) 28

(C) 35 (D) 31

fordl T 1 ‘uRepes’ R e’ @t
TER S5 § U 2 Hgedldl § —
Tog & foeis

(B) SHA T HlTA

(C) WHT T AquTcas

(D) TTH g HIE Tl

A % TH YT H, W 9IRS
10 7T € T ¥9BA B 5 T g1 AR
IIHA 46 B, Al WG BN —

(A) 5566

(C) 5336

(A)

5636
5436

(B)
(D)

APPU-1

111. A sum of money at simple interest

amounts to Rs. 500 in 2 years and

.Rs. 900 in 4. years. That sum of
money will be —
(A) Rs. 100 (B) Rs. 200
{€) s Rs.:300 (D) Rs. 400
112. The value of
0:1x0-1x0-1+0:-02x0-02x0-02
0-2x0-2x0:-2+0-04x0-04x0-04
is —
@) 1 (B) 0-025
(€) 0:25 B) B:125
113. The area of three adjacent faces of a
cuboid are x, y and z respectively.
The volume of cuboid will be —
A) xyz
B) x%y2z>
(C) Xyz
D) 3yYxyz
114. How many nﬁmbers between 100 and
300 are divisible by 7 ?
(A) 42 ' (B) 28
(€} .35 (D) 31
115 ‘Fhe statement obtained by
interchanging the ‘premise’ and
‘conclusion’ of a theorem is called —
(A) converse of the theorem
(B) inverse of the theorem
(C) contrapositive of the theorem
(D) none of these
- 116. In a question of division, the divisor is

10 times of quotient and 5 times of
remainder. If remainder is 46, then
dividend will be —
(A) 5636

(C) 5436

(B)
(D)

5566
5336

[ P.T.O.
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117. 99 =RE & 2fhh @R FHE: THH 117. The traffic lights of three cross roads

1 fe, 75 S%Ug IR 90 IHUE IR
Tl &1 O & U 9 7:50 AM W
Wmagxwmmﬁ S

(A) 7:59 AM W (B) 8:02 AM ™
(C) 8:05AM ™ (D) 8:10 AM ™
118.3 1.2x=0-3y @t L= wram & —
y+x
118.
(A) 05 (B) 03
(C) 09 (D) 06
119.753 @ TUs NG H TH ®H H g
2009 ¥ 2014 TF HI g 3RA (27 H) 119

<o T &1 faue’ ant s S Scded,

‘' al % el SR T TRl AT § 2
130

A

=g

13

2#[:
DAL et e,
= T = UM = S o SN o P
(o ] o SRR o SFEal o IR o AR o |
2

A) =

@&

(B) 075

() 138
(D) 378 9 HIE T
120. foran vty o s & fFger €1 359 e

YR I SEAIGehdl Sl S & 2 120.

() S s
(B) e dfg
(C) 3ieaid® e
(D) FANTETHS (5

001

change after each 1 minute,
75 seconds and 90 seconds
respectively. If these lights change
simultaneously at 7:50 AM, then
they will change simultaneously again
at——

(A) 7:59 AM (B) 8:02 AM

(C) 8:05 AM (D) 8:10 AM

If 1-2x=0-3y, then value of =
y+x

will be —

(A) 05 (B) 03

(€ 09 (D) 06

.In the given bar diagram, the wheat

production of a farm (in. tonnes) from
year 2009 to 2014 is shown. Sum of
production during 'odd’' years is how

many times that of the 'even' years ?
130

h

Wheat production ( in tonnes )

DS TS e
(=] (=) (=) (=] (=] (=]
N N N N N N
2

@

(B) 075

(C) 1-33

(D) None of these

Priya is good in solving mathematical
problems. Which type of multiple
intelligence in her is high ?

(A) Linguistic intelligence

(B) Logical intelligence

(C) Interpersonal intelligence

(D) - Psycho-motor intelligence
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121.

122

123.
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ENVIRONMENTAL STUDIES

Sid Yo ¥ YHLAE Hi AR 9¢d §, a9 9
fafeagd —

@) wedt ®

(B) ®edl ®

© ﬁremﬁr%
(D) ¥ 9§ FiE T

TEE TeEEE B ETRE- 2000 F SFIER
ARl FeAFT &1 fhy wem 9gE ¥ wWH
femmn g ?

(A) e R TEh e

(B) el & ureeE! Hen

(©) =31 9 e e

(D) o 37X ega wan

IR & fore &3 § ifuswan yeoed =

e gt § 2

(&) SW gHt =T
(B) feure™
() ufseHt e g i

(D) 390 =

121.

122.

123:

When we move from pole to equator, .

then biodiversity —

(A) increases
(B) decreases
(C) remains static
(D) none of these

According to National Curriculum
Framework-2000, in which group of
classes environmental education is

placed ?

(A)

1st and 2nd class
(B) :3rd to 5th class
(C) 6th to 8th class
(D) 9th and 10th class

Maximum landslides occur in which

part of India ?

(A) North East Hills
(B) Himalaya
(C) Western Ghat and Nilgiri

(D) Northern Ghat

[ P.T.0:
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124, f7=1 & § %1791 370 gafad 761 § 2
(A) Tedl GBS —  Hefae Fal
B) fwaA — FEARIYRIEA
Q) TREITE — FEASEIAEEES
O FEFEN  —  yfi s |
125. GSjial H  SATivaSd i wm -]
.................................... il 3T Bl ©
A) 573 fwar Fard
(B) 673 fael Far
(©) 28 fwer FER
(D) 746 el Hard
126. f=1 & | 71 R 39 g gwifad W &
g &1 921 fasen 9T
( ) ( wwfaa 30 )
(@ difa=n @) fo=s ot
b) e (@) whReR 7=
() TsH . (iii) Thd
(@ WERARA  (Gv) dEE T
a b c d
7.\ BRI iRt | Rt
(B) i R
©) - i S A |
B)ii & fic . HI Y
127. A9 THOROT HI Wesdl iR &A1 HI

AR hTl, TG I § —
(A) HIEHF & FH

(B) HIEAHS &

() TAFEcHF & H
(D) ¥ A i =

40

- 126.

124.

125.

z]

Which of the following pairs.is
mismatched ?

(A) Turmeric powder — Metallic yellow

(B) Freon — Chloro- fluoro-
carbon
(C) Greenhouse gas — Carbondioxide

(D) Contour farming — Soil erosion

the

in

In living organisms, amount
of

respiration is —

energy released aerobic

(A) 573 k cal.

B)
©

673 k cal.
28 k cal.
(D) 746 k cal.

Select the right option for matching of
disease and its affected organ :

(Diseases) (Affected organ)
(@ Jaundice (i) Lymph gland
(b) Rabies (i) Immunity system .
() AIDS (i) Liver
(d Filaria (iv) Nervous system
a =D c d
(A) FHO0S v ot i
B) iv iii i ii
(€)= il =it iV i
)= i iv

127. To evaluate the cleanliness and purity

| 001 |

of our environment is the main

objective of —
@)
(B)
©)
(D)

Cognitive dornaih_
Affective domain
Psychomotor domain

none of thesé
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128. ‘ST GU'W' & Ty W g8l & &3°  128. According to regional language which

AR &iF-91 379 gafad 781 & 2 of the following pairs about water
(A) TR 2 ‘@Tﬁﬁ'- harvesting is mismatched ?
B) TR A TER (A) Rajasthan —  Khadin
Gl st ot sy  (® Bihar _  Ahar
(C) Karnataka —  Kandi
(D) dfFeg — U - :
150 (ﬁq) 5 (D) Tamil Nadu —  Tank
. % ‘ 129. Smog is formed by —
(A) YU qu HreL 9

; (A) Smoke and fog
(B) o™ & HuH |

(C) Ieq T NO, ¥
(D) YL T CO,H

130. fr=ifera =1 gafaa SifsT .

(B) Condensation of vapour

(D) Smoke and CO,

130. Match the following :

-1 -1
(<) (wiEon) Column-I Column-II
@ Toe 0 =ifEm (Living beings) (Collector)
(b) Fgem ) Ao (@ Fish (,i), Herbarium
() foaeh (i) TR (b) Earthworm (i) Vivarium
d) IF (v) Frfeam (¢} Butterfly (i) Aquarium
AR TR TR (d Herb (iv) Terrarium
@) =R e @& b estid
B) i Sl e Vot e L DS RS
(C) = i e A iy 15 I A e
(B Sy sy iv il () i - v
131.%@m%ﬁtﬁﬁﬁz&ﬁﬁm%— I3]0 T S s
@) ToE 131. Earthquake waves are recorded by —
B) IoEETEITTE : | (A) Seismograph
© =frTE (B) Electrocardiograph
(C) Tomograph

(D) diciuT®
. (D) Polygraph

| 001 | [ P.T.O.
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132, AFA-TIET0 T T oooveerorereeresieeneeene 132. Human-environmental relation is a
e G b S e e T s e e e G L 8 concept.
(A) RUMHS (A) negative
(B) HATHE (B) positive
©) HaEE (C) cognitive
: D) all of these
(D) T & g = >
% 133. The first link in any food chain is
133. fdt @ Jaan +1 999 St 939 8L ey
: : always green plants, because —
B T, Fifh —
: (A) they are widely distributed
(@) o foga 98 % g9 € :
(B) they are firmly fixed on soil
(B) g T 9 G\ﬁ =4 € 3 (C) they fix atmospheric COg4 in
© SqS H arg CO, F presence of sunlight
P A ¥ (D) they have roots
(D) 7 & B € 134. How much percentage of the earth's
134. geat &1 Tag 1 foaa gfaea 9w s 9 surface is covered with water ?
g ? @A) 60%
a) 60% B 71%
B) 71% © 77%
© 77% | ' (D) 80%
D) 80% 135. "The Supreme Court has directed the

government to make Yamuna water
quality at least of Grade 'C' level which

could be made available to people for

135. ‘' I8 g 3 WER F1 AEfRE faa
T o949 & Sd & e FH H F9 TS
‘@' 'R 9w s, TEe S8 |l % i
IJrg IR UGS waAl S g1’ 3%
FHYAIER IS ‘Hl' W H 5 T —

drinking." According to above
mentioned statement the meaning of

Grade 'C' level is —

@ s S (A) clean water

(B) =<t we § Fgfud et (B) slightly polluted water

(C) 3ited g 1 gfd S| (C) moderately polluted water
(D) fereh wgfo el | (D) highly polluted water

001
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136. 91 ¥ FHIGME 919 T 9 §, Fife —

(A) drel 1 IR T Ydel 81 Sl @

(B) 9o ¥ a9 Tk Sl ©

(C) TtEl =1 HIf¥TeR W 9 81 STl ©

43

136.

(D) Wﬁafam@q’rwaaﬁ’réﬁ

STET 3 S ©

137. SIS0 TEHE 3T 9fEs € —
a) == % fo
B) & fe
(©) T Hi aren e & fo
(D) = ford

138. fova gafero fead wAm@n s § —
@) 229=E
(B) 2230«

05 S

15 S
139. &gHY fHiv § 1 9eas € ?

©
(D)

(A) SRS
(B) 3T9EISH
(C) 39HH
(D) T 9§ @it
140. Etogtodio § —
A) TUTER fHar®
(B) S iR ggues
(© ore freiea ygus

(D) woIEEIeH

1.37%:

138.

139.

140.

001

APPU-1

Flooding kills mesophy{ic plants

because —

(A) cell sap in plants becomes
diluted

(B) root respiration ceases

(€} cell sap in plarits becomes

~ concentrated

(D)

excess water leaks down plant
nutrients '
Kaziranga National Park is famous
for —

(A)
(B)
©
(D)

Tiger

Bear

One-horned Rhino

Hangul 7
World Environment Day is celebrated
on —

(A) 22 March

(B) 22 April

(C) 05 June

(D) 15 June

Who is responsible for the formation

of humus ?

(A) Producer

(B) Decomposer

(C) Consumer

(D) All of these

D.D.T. is —

(A) Weedicide

(B) Biodegradable pollutant

(C) Non-biodegradable pollutant
(D) Antibiotic

J2 20 M
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141.

142.

143.

144.

145.

=1 & @ $IF-T1 el 1 Hia g
YUl TR HAA § ? '

@A) T Hei

(B) € H=

(C) I

(D) IAferEH

AYATSH i G fael Wa HEedt © —
A
(B)

&Y HUed
HHAY HUSH
(C) A "sH

(D) IS HUSH .
aredta 9ot @1 %R T # 9 Tt g
Hafg ¥ ?

(&) SO, T NO,

B) coaauc-o2
(C) COT N,

(D) &7 Og

e el g%’ H Wil § —
@) fogqe &1 w SiE

(B) g¥u S

() =mufaus sig

- (D) A9 9 |

et TR T g § —
@) qT AT

(B) WaT 3T

(C) T4 Fgu

(D) ieaTy e

el

141.

142.

143.

144.

145.

001

'z

N
|
|

Which of the following sources of
energy never causes atmospheric
pollution ?

&)
(B)

Nuclear energy
Solar energy

(C) Coal
(D) Petroleum

The lowest layer of atmosphere is

known as —

A
(B)

Troposphere
Stratosphere
(C) Ionosphere
(D) Ozonosphere

Acid rain is caused due to increase in
concentration of —
@A) SO4 and NO,

(B)
€

CO and CO,,
CO and Ny,

(D) dust and Og

'Red Data Book' includes —

@
B)

Endangered species ‘
Vulnerable species
(C) Threatened species
(D) all of these
Overgrazing results in —
A
(B)

©

Soil pollution
Soil erosion
Thermal pollution

(D) Climatic change
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Sea-weéds are the chief source of —
(A) Chlorine
(B) Bromine

(C) Iodine

_[D) Iron

'‘Monal' is State Bird of which state
other than Uttarakhand ?

(&) Arunachal Pradesh

(B) Jammu-Kashmir

(C) Himachal Pradesh

(D) Meghalaya ‘

The unit of measuring thickness of

ozone layer is —

(A) Decibel

(B) Dobson unit

(C) Pascal

(D) Weber :

The aim of social forestry is —

(A) Management of forest for the help
of environment, social and rural
development

(B) Consolidation of holdings in rural
area

(C) Conservation of wildlife

(D) Development of grassland

In which village did founder of Chipko

movement, Gaura Devi start Chipko

movement ?

(A) Raini village

(B) Manmati
(C) Thirpak
(D) Hatgaon

[ P-TO.
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Question Nos. 1 to 30 are related to
Child Development and Pedagogy.

Question Nos. 31 to 60 are related
to First language — Hindi OR
English. Candidate has to select the
questions of only one language as
the First language. Answer the
questions of the language which the

candidate selected as First language
in his/her application form.

Question Nos. 61 to 90 are related
to Second language — Hindi OR
English OR Sanskrit OR Urdu.
Answer the questions of only one
language which the candidate has
selected as Second language in
his/her Application form.
Be careful that the language
selected as First language cannot
be taken as Second language.

Question Nos. 91 to 120 are related
to Mathematics.

121 to 150 are
related to Environmental Studies.

Question Nos.

Rough Work can be done in

- specified space of the Question

Booklet.

Do not waste time in solving the
questions. If you cannot answer a
question proceed to the next one.

Do not fold or damage the OMR
answer sheet any way.

After examination submit your OMR
answer sheet to the invigilator.
Candidates are allowed to take away
the carbon copy of OMR answer

sheet and Question Booklet.



